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\begin{circuitikz} \draw
(0,0) to [battery, I=$ ES,a=10<\V>] (0,3)
to [closing switch,|=$ A $] (3,3)
to [ammeter] (4,3)
to [R,|_=S R_1S,a*=10<\ohm>] (4,0)
to[R,|_ =SR_25S,a=](0,0)
(110) - (11-1)
to [voltmeter] (3,-1) -- (3,0)
(413) - (613)

to [C, *-*,1(6,0) -- (4,0)

\end{circuitikz}
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Mg™ O \ce {Mgr2+ 0A2-\\

COs™ (29) \ce (c0302- (ag)\

. o \Pos -
NaOH (aq) — Na™ (aq) + OH" (aq) \ce {NaOH (aq) -> Na+ (aqg) + OH- (aq)}\\

- a + -
NH; + H0 &= NH," + OH \ce {NH3 + H20 <--> NH4M + OHA-}\\

NH; + HO = NH," + OH" \¢¢ {NH3 + H20 <=> NH4 N+ + OHA-}\\
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2T \ce {02 7\

2- 2 . .
SO4™ (aq) + Ba™ (aq) — BaSOsd \ o(s0any- (ag) + Ban2+ (aq) -> BaSO4 VAL

NaOH (s) *2% Na® (aq) + OH™ (aq) \ce {NaOH (s) ->[H20] Na+ (aq) + OH- (ag)\\

Hioomd, evépyeio

6 002 + 6 H2O - C(;H]QO(S + G 02

X wpotpiihn \ce {6CO2 + 6H20 ->[{\text{HAwaknA
evépyeta}}][{\text{XAwpodpUAAn}}] C6H1206 + 602 }

CHL + 202 e COQ +2HQO

Med gvio OZuy dvo AroEelbio tou dviposca Nepd

S\underset{\text{MeBavio}}{\ce{CH4}}$ + S\underset{\text{Ofuydvo}}{\ce{202}}$ {\ce{->}
S\underset{\text{Alo€eidio tou dvBpaka}}{\ce{CO2}}$ + S\underset{\text{Nepo}{\ce{2H20}}$

Chemfig

\chemfig{H-C(-[2]H)(-[6]H)-HA\
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\chemfig{H-C(-[:90]H)(-[:270]H)-H}\\

TH (‘)H
H (“ (‘J H
H H \chemfig {H-C(-[2]OH)(-[6]H)-C(-[2]OH)(-[6]H)-H}\\

H \chemfig{(H-C*6(=C(-H)-C(-H)=C(-H)-C(-H)=C(-H)-))}
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\chemname{\chemfig {H-C(-[2]OH)(-[6]H)-C(-[2]OH)(-[6]H)-C(-[2]H)(-[6]H)-H}}{1,2 MpomavosidAn\\
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H
‘ 0
H—T—H + 2(0=0) 0 C 0 + 2 H/ \H} +  OeppoTnro
H
Meddvio Ofuydvo Avofeibio Nepé

Tou dvlpoxa

C+ 30, — CO
\ce {C +1/2 02 -> CO}

SK_c = \ce{\frac{[NH3]*2}{[H2]*3[N2]}}$



